District School Board of Pasco County Bid Recommendation

Bid Title	Adobe CS3 Licenses	Number of Vendors Notified	342
Bid Number	07-132-AZ	Number of BidsDistributed	20
Date Solicited	March 27, 2007	Number of VendorsBidding	13
Date Opened	April 27, 2007	Number of Formal "NoBid" Responses	1
Date Board Presentation	May 15, 2007	Funding Source	CCTE Carl Perkins Grant #3217
Total Savings	\$8,221	Grand Total of Bid	\$44,252.50

<u>Recommendation</u>: Recommend acceptance of bid as noted on the attached tabulation sheet for 145 Adobe CS3 licenses on behalf of the Community, Career and Technical Education Department for distribution to twelve (12) school sites.

Term of Contract: One-time purchase of licenses under District's licensing program with Adobe, through authorized resellers.

Notations and Exceptions: Bid from CCV Software was disqualified at the bid opening as they did not provide a signed bid sheet as mandated in the bid document. Tech Depot was disqualified at the bid opening as they did not provide a signed Addendum #1 as mandated in the bid document. As the CS3 version of Adobe is a very new release (Master Collection version is not available to ship until June 2007), bidders were unable to bid on an "apples to apples" basis for 2-year maintenance licenses. We therefore recommend acceptance of bid from Insight Public Sector for 145 licenses without maintenance, an option provided in the bid document, as lowest and best responsive, responsible bid meeting written specifications.

Offers from other vendors listed herein are the only offers received per the specified opening date and time. All other offers submitted in response to this solicitation, if any, are hereby rejected as late.

Bids Evaluated By:

Rob Aguis, Director of Community, Career & Technical Education Barbara Donaghy, Supervisor of Career & Technical Education Arlene Zimney, CPPB, C.P.M., Buyer

Bids Prepared By:

Arlene Zimney, CPPB, C.P.M., Buyer

Reviewed and Authorized By:

Kendra Goodman, CPPB, Purchasing Agent

DATE OF OPENING: April 27, 2007 @ 2:30 pm		Academic Superstore		CDW Government, Inc.		Computer Intelligence Association		
BID TITLE: Adobe CS3 Licenses BID #07-132-AZ		2101 East St. Elmo Suite 360 Austin, TX 78744		230 N. Milwaukee Avenue Vernon Hills, IL 60061		10425 Dalebrooke Lane Potomac, MD 20854		
QTY	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	
25	Adobe CS3 Master Collection licenses	448.00	11,200.00	481.00	12,025.00	465.81	11,645.25	
120	Adobe CS3 Design Premium licenses	284.00	34,080.00	298.95	35,874.00	279.45	33,534.00	
145	Media disks	21.95	3,182.75	23.00	3,335.00	21.85	3,168.25	
	TOTAL:	753.95	48,462.75	802.95	51,234.00	767.11	48,347.50	
25	Adobe CS3 Master Collection licenses	448.00	11,200.00	481.00	12,025.00	465.81	11,645.25	
25	2 year maintenance fee per Master Collection license	98.00	2,450.00	146.62	3,665.50	139.67	3,491.75	
120	Adobe CS3 Design Premium licenses	284.00	34,080.00	298.95	35,874.00	279.45	33,534.00	
120	2 year maintenance fee per Design Premium license	98.00	11,760.00	88.22	10,586.40	83.99	10,078.80	
145	Media disks	21.95	3,182.75	23.00	3,335.00	21.85	3,168.25	
	TOTAL:	851.95*	62,672.75	1,037.79	65,485.90	990.77	61,918.05	
	* Incorrect total was bid							
	** Split for 1st year maint./2nd year maint.							
	*** Prorated by month							
	**** One year maintenance quoted							
	***** Not quoted							

DATE OF OPENING: April 27, 2007 @ 2:30 pm	Computerland of Silicon Valley 478 West San Carlos Street San Jose, CA 95110		Diskovery 1860 Old Okeechobee Road # 106 West Palm Beach, FL 33409		En Pointe Technologies Sales, Inc.		
BID TITLE: Adobe CS3 Licenses					2381 Rosecrans Avenue, Suite 325		
BID #07-132-AZ					El Segundo, CA 90245		
BOARD MEETING 5/15/2007 QTY DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	
25 Adobe CS3 Master Collection licenses	475.00	11,875.00	477.11	11,927.75	470.58	11,764.50	
120 Adobe CS3 Design Premium licenses	285.00	34,200.00	286.81	34,417.20	282.36	33,883.20	
145 Media disks	22.40	3,248.00	21.95	3,182.75	22.18	3,216.10	
TOTAL:	782.40	49,323.00	785.87	49,527.70	775.12	48,863.80	
25 Adobe CS3 Master Collection licenses	475.00	11,875.00	477.11	11,927.75	470.58	11,764.50	
25 2 year maintenance fee per Master Collection license	142.50	3,562.50	73.37**	1,834.25	142.32***	3,558.00	
120 Adobe CS3 Design Premium licenses	285.00	34,200.00	286.81	34,417.20	282.36	33,883.20	
120 2 year maintenance fee per Design Premium license	85.75	10,290.00	73.37**	8,804.40	142.32***	17,078.40	
145 Media disks	22.40	3,248.00	21.95	3,182.75	22.18	3,216.10	
TOTAL:	1,010.65	63,175.50	785.87	60,166.35	775.12	69,500.20	
* Incorrect total was bid							
*** Split for 1st year maint./2nd year maint. *** Prorated by month							
**** One year maintenance quoted							
***** Not quoted							

DATE OF OPENING: April 27, 2007 @ 2:30 pm		Insight	Public Sector, Inc.	Learnin	g Services	Softchoice Corporation	
BID TITLE: Adobe CS3 Licenses BID #07-132-AZ		2701 Rocky Po	pint Drive North, Suite 300	PO Bo	ox 10636	314 West Superior Street Chicago, IL 60610	
		Tan	npa, FL 33607	Eugene,	OR 97440		
	BOARD MEETING 5/15/2007						
QTY	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
25	Adobe CS3 Master Collection licenses	470.62	11,765.50	467.90	11,697.50	475.23	11,880.75
120	Adobe CS3 Design Premium licenses	248.49	29,818.80	281.40	33,768.00	285.26	34,231.20
145	Media disks	18.40	2,668.00	21.95	3,182.75	21.95	3,182.75
	TOTAL:	737.51	44,252.30	771.25	48,648.25	972.79	49,294.70
25	Adobe CS3 Master Collection licenses	470.62	11,765.50	467.90	11,697.50	475.23	11,880.75
25	2 year maintenance fee per Master Collection license	141.18	3,529.50	72.40****	1,810.00	142.56	3,564.00
120	Adobe CS3 Design Premium licenses	248.49	29,818.80	281.40	33,768.00	285.26	34,231.20
120	2 year maintenance fee per Design Premium license	74.75	8,970.00	44.05****	5,286.00	85.81	10,297.20
145	Media disks	18.40	2,668.00	21.95	3,182.75	21.95	3,182.75
	* Incorrect total was bid	953.44	56,751.80	771.25	55,744.25	1,010.81	63,155.90
	** Split for 1st year maint./2nd year maint.						
	*** Prorated by month						
	**** One year maintenance quoted						
	***** Not quoted						

DATE OF OPENING: April 27, 2007 @ 2:30 pm		Software House International, Inc.		Software Plus		Specialty Video Supply		Zones Inc.	
BID TITLE: Adobe CS3 Licenses		2 Riverview Drive		10880 Baur Boulevard		10-12 Charles Street		1102 15th Street SW, Suite 102	
BID #07-132-AZ		Somerset, NJ 08873		St. Louis, MO 63132		Glen Cove, NY 11542		Auburn, WA 98001	
	BOARD MEETING 5/15/2007								
QTY	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
25	Adobe CS3 Master Collection licenses	479.89	11,997.25	473.71	11,842.75	495.00	12,375.00	474.18	11,854.50
120	Adobe CS3 Design Premium licenses	287.94	34,552.80	284.23	34,107.60	296.00	35,520.00	284.50	34,140.00
145	Media disks	23.25	3,371.25	22.35	3,240.75	22.00	3,190.00	44.68	6,478.60
	TOTAL:	791.08	49,921.30	780.29	49,191.10	813.00	51,085.00	803.36	52,473.10
25	Adobe CS3 Master Collection licenses	479.89	11,997.25	473.71	11,842.75	495.00	12,375.00	142.25	3,556.25
25	2 year maintenance fee per Master Collection license	143.96	3,599.00	142.11	3,552.75	74.76****	1,869.00	Not quoted	****
120	Adobe CS3 Design Premium licenses	287.94	34,552.80	284.23	34,107.60	296.00	35,520.00	142.25	17,070.00
120	2 year maintenance fee per Design Premium license	86.62	10,394.40	85.50	10,260.00	44.65****	5,358.00	Not quoted	****
145	Media disks	23.25	3,371.25	22.35	3,240.75	22.00	3,190.00	44.68	6,478.60
	TOTAL:	1,021.66	63,914.70	1009.90*	63,003.85	813.00	58,312.00	329.18	27,104.85
	* Incorrect total was bid								
	** Split for 1st year maint./2nd year maint.						ļ		
	*** Prorated by month						ļ		
	**** One year maintenance quoted						<u>ب</u>		
	***** Not quoted						L		